A series $\sum a_n$ converges absolutely (is absolutely convergent) if the corresponding series of absolute values, $\sum |a_n|$ converges.

Theorem 12 - The Absolute Convergence Test If $\sum_{n=1}^{\infty} |a_n|$ converges, then $\sum_{n=1}^{\infty} a_n$ converges.

Theorem 13 - The Ratio Test

Let $\sum a_n$ be any series and suppose that

$$\lim_{n\to\infty}\left|\frac{a_{n+1}}{a_n}\right| = \rho$$

Then (a) the series *converges absolutely* if $\rho < 1$,

(**b**) the series *diverges* if $\rho > 1$ or ρ is infinite,

(c) the test is *inconclusive* if $\rho = 1$.

Theorem 14 - The Root Test

Let $\sum a_n$ be any series and suppose that

$$\lim_{n\to\infty}\sqrt[n]{|a_n|}=\rho\,.$$

Then (a) the series *converges absolutely* if $\rho < 1$,

(**b**) the series *diverges* if $\rho > 1$ or ρ is infinite,

(c) the test is *inconclusive* if $\rho = 1$.

2 section 10.5 MATH 21200 2) $\sum_{n=1}^{\infty} (-1)^n \frac{n+2}{2^n}$ $a_n = (-1)^n \frac{n+2}{2^n}$ $a_{n+1} = (-1)^{\binom{n+1}{2}} \frac{(n+1)+2}{2^{\binom{n+1}{2}}}$ $\lim_{n \to \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \to \infty} \left| \frac{\left(-1\right)^{\binom{n+1}{2}} \frac{(n+1)+2}{3^{\binom{n+1}{2}}}}{\left(-1\right)^n \frac{n+2}{2^n}} \right| = \lim_{n \to \infty} \frac{\frac{(n+1)+2}{3^{\binom{n+1}{2}}}}{\frac{n+2}{2^n}}$ $= \lim_{n \to \infty} \left(\frac{(n+1)+l}{3^{(n+1)}} \right) \left(\frac{3^{n}}{n+2} \right) = \lim_{n \to \infty} \left(\frac{n+3}{(3^{n})(3')} \right) \left(\frac{3^{n}}{n+2} \right) = \lim_{n \to \infty} \frac{n+3}{3(n+2)}$ $= \lim_{n \to \infty} \frac{n+3}{3n+6} \stackrel{L}{=} \lim_{n \to \infty} \frac{1}{3} = \frac{1}{3} < 1$ Since lim (and 1/3), by the Ratio Lest the series converges absolutely 4) $\sum_{n=1}^{\infty} \frac{2^{n+1}}{n^{3^{n-1}}} \qquad a_n = \frac{2^{(n+1)}}{n^{3^{(n-1)}}} \qquad a_{n+1} = \frac{2^{(n+1)+1}}{(n+1)^{3^{(n+1)-1}}} = \frac{2^{(n+2)}}{(n+1)^{3^{n-1}}}$ $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{\frac{2^{(n+1)}}{(n+1)3^n}}{\frac{2^{(n+1)}}{n \to \infty}} = \lim_{n \to \infty} \left(\frac{2^{(n+2)}}{(n+1)3^n}\right) \left(\frac{n \cdot 3^{(n-1)}}{2^{(n+1)}}\right)$ $= \lim_{n \to \infty} \left(\frac{(2^{(n+1)})(2^{1})}{(n+1)(3^{(n+1)})(3^{1})} \right) \left(\frac{n \ 3^{(n-1)}}{2^{(n+1)}} \right) = \lim_{n \to \infty} \frac{(2)(n)}{(n+1)(3)} = \lim_{n \to \infty} \frac{2n}{3n+3}$ $= \lim_{n \to \infty} \frac{2}{3} = \frac{2}{3} < 1$ Since lim anti-221, by the Ratio Lest the series converges absolutely

$$\begin{aligned} \delta &\sum_{n=2}^{\infty} \frac{3^{n+2}}{k_n n} \qquad a_n = \frac{3^{(n+2)}}{k_n n} \qquad a_{n+1} = \frac{3^{((n+1)+2)}}{k_n(n+1)} \qquad \frac{3^{(n+3)}}{k_n(n+1)} \\ \lim_{n \to \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \to \infty} \left| \frac{3^{(n+3)}}{k_n(n+1)} \right| = \lim_{n \to \infty} \left(\frac{3^{(n+3)}}{k_n(n+1)} \right) \left(\frac{k_n n}{3^{(n+2)}} \right) \\ = \lim_{n \to \infty} \left(\frac{(3^{(n+1)})(3^{(1)})}{k_n(n+1)} \right) \left(\frac{k_n n}{3^{(n+2)}} \right) = \lim_{n \to \infty} \frac{3k_n n}{k_n(n+1)} = \lim_{n \to \infty} \frac{3}{n+1} = \lim_{n \to \infty} \frac{3(n+2)}{n} \\ = \lim_{n \to \infty} \frac{3n+3}{k} = \lim_{n \to \infty} \frac{3}{1} = 3 > 1 \\ \lim_{n \to \infty} \lim_{n \to \infty} \frac{a_{n+1}}{k_n(n+1)} = \lim_{n \to \infty} \frac{3n+3}{n} = \lim_{n \to \infty} \frac{3n}{n} = \lim_{n \to \infty} \frac{3(n+2)}{n} \\ \lim_{n \to \infty} \lim_{n \to \infty} \frac{a_{n+1}}{k_n(n+1)} = \frac{n + 5^n}{(2n+3)k_n(n+1)} = \lim_{n \to \infty} \frac{(n+1)(5^{(n+1)})}{(2n+3)k_n(n+2)} = \frac{(n+1)(5^{(n+1)})}{(2n+3)k_n(n+2)} \\ \lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{(2n+3)k_n(n+1)}{(2n+3)k_n(n+2)} = \lim_{n \to \infty} \frac{(n+1)(5^{(n+1)})}{(2n+3)k_n(n+2)} = \frac{(n+1)(5^{(n+1)})}{(2n+3)k_n(n+2)} \\ = \lim_{n \to \infty} \frac{(n+1)(5^n (5^1))}{(2n+3)k_n(n+2)} = \lim_{n \to \infty} \frac{(5(n+1)(2n+3))}{(2n+3)k_n(n+2)} \left(\frac{(2n+3)k_n(n+2)}{k_n(n+2)} \right) \\ = \lim_{n \to \infty} \frac{(0n+1)(5n+15)}{(2n+3)k_n(n+2)} \left(\frac{(2n+3)k_n(n+1)}{n + 5^n} \right) = \lim_{n \to \infty} \frac{(5(n+1)(2n+3))}{(2n+3)k_n(n+2)} \left(\frac{(k+1)(2n+3)}{k_n(n+2)} \right) \\ = \lim_{n \to \infty} \frac{(0n+1)(5n+15)}{(2n+3)k_n(n+2)} = \lim_{n \to \infty} \frac{(5(n+1)(2n+3))}{(2n+3)k_n(n+2)} \left(\frac{(k+1)(2n+3)}{k_n(n+2)} \right) \\ = \lim_{n \to \infty} \frac{(0n+1)(5n+15)}{(2n+3)k_n(n+2)} = \lim_{n \to \infty} \frac{(2n+15)}{k_n(n+2)} = \lim_{n \to \infty} \frac{(2n+15)}{2n+10n} \\ = \lim_{n \to \infty} \frac{(2n+15)}{n+12} \lim_{n \to \infty} \frac{(2n+15)}{n+12} \lim_{n \to \infty} \frac{(2n+15)}{n+12} \lim_{n \to \infty} \frac{(2n+15)}{n+12} \lim_{n \to \infty} \frac{(2n+15)}{2n} \lim_{n$$

4 $\lim_{n \to \infty} \sqrt[n]{|a_n|} = \lim_{n \to \infty} \sqrt[n]{|\frac{4}{3n}|} = \lim_{n \to \infty} \sqrt[n]{|\frac{4}{3n}|} = \lim_{n \to \infty} \frac{4}{3n} = 0 < 1$ since lim "[an] = 0 < 1, by the Rost Jest the series converges absolutely $12) \sum_{n=1}^{\infty} \left(-\ln\left(e^{2} + \frac{1}{n}\right)\right)^{n+1} \quad a_{n} = \left(-\ln\left(e^{2} + \frac{1}{n}\right)\right)^{(n+1)}$ $\lim_{n \to \infty} \sqrt[n]{\left|a_{n}\right|} = \lim_{n \to \infty} \sqrt[n]{\left|\left(-\ln\left(e^{2} + \frac{1}{n}\right)\right)^{\left(n+1\right)}\right|} = \lim_{n \to \infty} \left(\ln\left(e^{2} + \frac{1}{n}\right)\right)^{\frac{\left(n+1\right)}{n}}$ $= \lim_{n \to \infty} \left(\ln \left(e^2 + \frac{1}{n} \right) \right)^{(1+\frac{1}{n})} = \left(\ln \left(e^2 + 0 \right) \right)^{(1+0)} = \left(\ln \left(e^2 \right) \right)^{1} = 2 > 1$ Since him "TanT=2>1, by the Root Jest the series diverges $14) \sum_{n=1}^{\infty} \sin^{n}\left(\frac{1}{\sqrt{n}}\right) \qquad a_{n} = \sin^{n}\left(\frac{1}{\sqrt{n}}\right) = \left(\sin\left(\frac{1}{\sqrt{n}}\right)\right)^{n}$ $\lim_{n \to \infty} \sqrt[n]{\left|a_{n}\right|} = \lim_{n \to \infty} \sqrt[n]{\left(\sin\left(\frac{1}{\sqrt{n}}\right)\right)^{n}} = \lim_{n \to \infty} \left(\sin\left(\frac{1}{\sqrt{n}}\right)\right) = \sin\left(0\right) = 0 < 1$ since lim " Tan = 0<1, by the Ratio Lest the series converges absolutely

5 $\lim_{n \to \infty} \sqrt[n]{\left|a_{n}\right|} = \lim_{n \to \infty} \sqrt[n]{\left(-1\right)^{n}} = \lim_{n \to \infty} \frac{\sqrt{1}}{n} = \lim_{n \to \infty} \frac{1}{n^{(\frac{1}{n}+1)}}$ = $\lim_{n \to \infty} \frac{1}{(n^{\frac{1}{n}})(n')} = \lim_{n \to \infty} \frac{1}{(\sqrt[n]{n})(n)} = 0 < 1$ since lim "Tant = 0 < 1, by the Root Test the series converges absolutely $\lim_{n \to \infty} a_n = \lim_{n \to \infty} \left(1 + \frac{(-2)}{n} \right)^n = e^{(-2)} = \frac{1}{e^2} \neq 0 \quad \left\{ \sec 10.1 \ \lim_{n \to \infty} 5 \neq 5 \right\}$ since lim an = = = = 0, by the nth - Jerm Ilst for Divergence this series diverges. $24) \sum_{n=1}^{\infty} \frac{(-2)^n}{2n} = \frac{(-2)^1}{2^1} + \frac{(-2)^2}{2^2} + \frac{(-2)^3}{3^3} + \dots$ $=\frac{-2}{3}(1)+\frac{-2}{3}\left(\frac{-2}{3}\right)'+\frac{-2}{3}\left(\frac{-2}{3}\right)^{2}+\cdots=\sum_{n=1}^{\infty}\left(\frac{-2}{3}\right)\left(\frac{-2}{3}\right)^{n}$ this is a geometric series with $a = \frac{-2}{3}$ and $n = \frac{-2}{3}$ since |n/= 1= 1/2 KI this series converges to a $\sum_{n=1}^{\infty} \frac{(-2)^n}{3^n} = \sum_{n=1}^{\infty} \binom{-2}{3} \binom{-2}{3}^{n-1} = \frac{\binom{-2}{3}}{1-\binom{-2}{3}} = \frac{-2}{5}$

6 26) $\sum_{n=1}^{\infty} \left(1-\frac{1}{3n}\right)^n \qquad a_n = \left(1-\frac{1}{3n}\right)^n = \left(1+\frac{3}{3n}\right)^n$ $\lim_{n \to \infty} a_n = \lim_{n \to \infty} \left(1 + \frac{\binom{-1}{3}}{n} \right)^n = e^{\binom{-1}{3}} = \frac{1}{3\sqrt{e}} \neq 0 \quad \left\{ \sec(0, 1) \text{ Ihm } 5 \# 5 \right\}$ Since $\lim_{n \to \infty} a_n = \frac{1}{3\sqrt{a}} \neq 0$, by the nth-Jerm Lest for Divergence this series diverges. 32) $\sum_{n=1}^{\infty} \frac{n \ln n}{(-2)^n} \qquad a_n = \frac{n \ln n}{(-2)^n} \qquad a_{n+i} = \frac{(n+i) \ln (n+i)}{(-2)^{(n+i)}}$ $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{\frac{(n+1)\ln(n+1)}{(-2)^{(n+1)}}}{\frac{n}{2}} \lim_{n \to \infty} \frac{(n+1)\ln(n+1)}{2^{(n+1)}} \left(\frac{2^n}{n\ln n}\right)$ $= \lim_{n \to \infty} \left(\frac{(n+1) \ln(n+1)}{(2^n)(2^1)} \right) \left(\frac{2^n}{n \ln n} \right) = \lim_{n \to \infty} \left(\frac{n+1}{2n} \right) \left(\frac{\ln(n+1)}{\ln n} \right)$ $= \left\{ \lim_{n \to \infty} \frac{n+1}{2n} \right\} \left\{ \lim_{n \to \infty} \frac{\ln(n+1)}{\ln n} \right\} = \left\{ \frac{1}{2} \right\} \left\{ 1 \right\} = \frac{1}{2} < 1$ lim <u>n+1 1 lim 1 = 1</u> n700 2n _ n700 2 = 2 $\lim_{n \to \infty} \frac{\ln (n+1)}{\ln n} \stackrel{L}{=} \lim_{n \to \infty} \frac{1}{n+1} \stackrel{2}{=} \lim_{n \to \infty} \frac{n}{n+1} \stackrel{L}{=} \lim_{n \to \infty} \frac{1}{1} \stackrel{2}{=} \stackrel{1}{=} \stackrel{1}{=} 1$ since lim $\left|\frac{a_{n+1}}{a_n}\right| = \frac{1}{2} < 1$, by the Ratio Lest this series converges absolutely

7 $34) \sum_{n=1}^{\infty} e^{-n} \binom{n^3}{n^3} \qquad a_n = \frac{n^3}{e^n} \qquad a_{n+1} = \frac{(n+1)^3}{e^{(n+1)}} = \frac{n^3 + 3n^2 + 3n + 1}{(e^n)(e^1)}$ $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{\frac{(n+1)}{e^{(n+1)}}}{\frac{n^3}{n^3}} = \lim_{n \to \infty} \frac{\frac{(n+1)^3}{e^{(n+1)}}}{\frac{e^{(n+1)}}{n^3}} \frac{e^n}{n^3}$ $= \lim_{n \to \infty} \left(\frac{n^3 + 3n^2 + 3n + 1}{(e^n)(e^1)} \right) \left(\frac{e^n}{n^3} \right) = \lim_{n \to \infty} \frac{n^3 + 3n^2 + 3n + 1}{e^{n^3}}$ $= \lim_{n \to \infty} \left(\frac{n^3}{e^{n^3}} + \frac{3n^2}{e^{n^3}} + \frac{3n}{e^{n^3}} + \frac{1}{e^{n^3}} \right) = \lim_{n \to \infty} \left(\frac{1}{e} + \frac{3}{e^n} + \frac{3}{e^{n^2}} + \frac{1}{e^{n^3}} \right) = \frac{1}{e} + 0 + 0 + 0 = \frac{1}{e} < 1$ since lim (an+1/2 - < 1 by the Ratio Test this series converges absolutely $36) \sum_{n=i}^{\infty} \frac{n2^{n}(n+i)!}{3^{n}n!} \qquad a_{n} = \frac{n2^{n}(n+i)!}{3^{n}n!} \qquad a_{n+i} = \frac{(n+i)2^{(n+i)}((n+i)+i)!}{3^{(n+i)}(n+i)!} = \frac{(n+i)2^{(n+i)}(n+2)!}{3^{(n+i)}(n+i)!}$ $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{\frac{(n+1)2^{(n+1)}(n+2)!}{3^{(n+1)}(n+1)!}}{\frac{n^{2n}(n+1)!}{2^{(n+1)}!}} = \lim_{n \to \infty} \frac{(n+1)2^{(n+1)}(n+2)!}{3^{(n+1)}(n+2)!} \left(\frac{3^n n!}{n2^n(n+1)!}\right)$ $= \lim_{n \to \infty} \frac{(n+1)(2^{n})(2^{i})(n+2)(n+1)!}{(3^{n})(3^{i})(n+1)n!} \left(\frac{3^{n}n!}{n(2^{n})(n+1)!}\right) = \lim_{n \to \infty} \frac{2(n+1)(n+2)}{3n(n+1)}$ $= \lim_{n \to \infty} \frac{2n^2 + 6n + 4}{3n^2 + 3n} \stackrel{L}{=} \lim_{n \to \infty} \frac{4n + 6}{6n + 3} \stackrel{L}{=} \lim_{n \to \infty} \frac{4}{6} = \frac{4}{5} = \frac{2}{3} < 1$ since lim $\frac{|a_{n+i}|}{|a_n|} = \frac{2}{3} < 1$, by the Ratio Lest this series converges absolutely

8 $38) \sum_{n=1}^{\infty} \frac{n!}{(-n)^n} \qquad \alpha_n = \frac{n!}{(-n)^n} \qquad \alpha_{n+1} = \frac{(n+1)!}{(-(n+1))^{(n+1)}}$ $\lim_{n \to \infty} \frac{|a_{n+1}|}{|a_n|} = \lim_{n \to \infty} \frac{\frac{(n+1)!}{(-(n+1))^{(n+1)}}}{\frac{n!}{(-n+1)}} = \lim_{n \to \infty} \left(\frac{(n+1)!}{(n+1)^{(n+1)}}\right) \left(\frac{n}{n!}\right)$ $= \dim_{n \to \infty} \left(\frac{(n+1)n!}{((n+1)^n)((n+1)!)} \right) \left(\frac{n^n}{n!} \right) = \dim_{n \to \infty} \frac{n^n}{(n+1)^n} = \lim_{n \to \infty} \frac{(n+1)^n}{(n+1)^n} = \lim_{n \to \infty} \frac{1}{(n+1)^n}$ $= \lim_{n \to \infty} \frac{1}{\left(\frac{n}{n} + \frac{1}{n}\right)^n} = \lim_{n \to \infty} \frac{1}{\left(1 + \frac{1}{n}\right)^n} = \lim_{n \to \infty} \frac{1}{\left(1 + \frac{1}{n}\right)^n} = \frac{1}{e^1} = \frac{1}{e^1$ $\lim_{n \to \infty} (1 + \frac{1}{n})^n = e^1 \quad \{sec, 10, 1 \ Jkm 5 \# 5\}$ since lim $\left|\frac{a_{n+1}}{a_n}\right| = \frac{1}{e} < 1$, by the Ratio Lest this series converges absolutely $(40) \sum_{n=2}^{\infty} \frac{n}{(h_n)^2}$ $a_n = \frac{n}{(l_n n)^2}$ $\lim_{n \to \infty} \sqrt{\left| \begin{array}{c} a_n \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty} \sqrt{\left| \begin{array}{c} n \\ n \end{array} \right|} = \lim_{n \to \infty$ lin n = lim n =] Since lim " [an] = 0 < 1, by the $y = n^{\frac{1}{n}}$ $\lim_{n \to \infty} \frac{\ln n}{n} = \lim_{n \to \infty} \frac{1}{n}$ Root Jest this series lny= lnn := lim 1=0 converges absolutely $lny=0 \Rightarrow y=e^{\circ}=1$

$$\begin{array}{l} \left(42 \right) \sum_{n=1}^{\infty} \left(\frac{-3}{n^{3}} \frac{2^{n}}{n} \right) & a_{n} = \frac{(-3)^{n}}{n^{3}2^{n}} & a_{n+1} = \frac{(-3)^{(n+1)}}{(n+1)^{3}2^{(n+1)}} \\ \left(\frac{1}{n} + \frac{1}{n} \frac{1}{2^{n}} \right) = \frac{1}{n^{3}\infty} \left(\frac{(-3)^{(n+1)}}{(n+1)^{3}2^{(n+1)}} \right) = \lim_{n \to \infty} \left(\frac{3^{(n+1)}}{(n+1)^{3}2^{(n+1)}} \right) \left(\frac{n^{3}2^{n}}{3^{n}} \right) \\ = \lim_{n \to \infty} \left(\frac{(3^{n})^{(3)}}{(n+1)^{3}(2^{n})^{(2)}(2^{1})} \right) \left(\frac{n^{3}(2^{n})}{(n^{3})^{2}2^{n}} \right) = \lim_{n \to \infty} \frac{3^{n}}{2^{(n+1)}(n+1)^{3}2^{(n+1)}} \left(\frac{n^{3}}{3^{n}} \frac{2^{n}}{n^{3}} \right) \\ = \lim_{n \to \infty} \left(\frac{(3^{n})^{(3)}}{(n+1)^{3}(2^{n})^{(2)}(2^{1})} \right) \left(\frac{n^{3}(2^{n})}{(3^{n})} \right) = \lim_{n \to \infty} \frac{3^{n}}{2^{(n+1)}(n+1)^{3}} = \lim_{n \to \infty} \frac{3^{n}}{2^{n}} \frac{3^{n}}{2^{n}} \\ = \lim_{n \to \infty} \left(\frac{(3^{n})^{(2)}}{(n+1)^{3}(2^{n})^{(2)}(2^{1})} \right) \left(\frac{n^{3}(2^{n})}{(3^{n})} \right) = \lim_{n \to \infty} \frac{3^{n}}{2^{(n+1)}(2^{n+1})^{3}} = \lim_{n \to \infty} \frac{3^{n}}{2^{n}} \frac{3^{n}}{2^{n}} \\ = \lim_{n \to \infty} \left(\frac{(3^{n})^{(2)}}{(n+1)^{3}(2^{n}+2)^{2}} \right) \left(\frac{n^{3}(2^{n})}{(2^{n+1}+2)} \right) = \lim_{n \to \infty} \frac{1}{2^{n}} \frac{1}{2^{n}} = \frac{2}{2^{n}} < 1 \\ Mince \lim_{n \to \infty} \left| \frac{a_{n+1}}{a_{n}} \right| = \frac{3^{n}}{2^{n}} \left(\frac{2^{n}}{2^{n}} \right) \left(\frac{2^{(n+1)}+3}{3^{(n+1)}+2} \right) \left(\frac{3^{n+2}}{3^{(n+1)}+2} \right) \\ \lim_{n \to \infty} \left(\frac{a_{n+1}}{a_{n}} \right) \left(\frac{2^{n}}{(2^{n+3})} \right) \frac{1}{2^{(n+1)}} \left(\frac{2^{n+3}}{3^{n+2}} \right) \left(\frac{3^{n}+2}{(2^{n+3})^{(2^{n}+3)}} \right) \\ = \lim_{n \to \infty} \left(\frac{a_{n+1}}{a_{n}} \right) \left(\frac{2^{(n+1)}+3(3^{(n+1)}+3}{(3^{(n+1)}+3^{(n+1)}+3}} \right) \frac{1}{n^{n}} \left(\frac{2^{n}}{2^{(n+1)}+3} \right) \left(\frac{3^{n}+2}{(2^{(n+1)}+3} \right) \right) \\ = \lim_{n \to \infty} \left(\frac{2^{n}}{a_{n}} \right) \left(\frac{(2^{n}+3)^{(2^{n}+3)}}{((n^{n})^{(2^{n}+4)}+3} \right) \frac{1}{n^{n}}} \right) \frac{1}{n^{n}} \left(\frac{2^{n}}{(2^{n+3})^{(2^{n}+4)}} \right) \frac{1}{n^{n}}} \left(\frac{2^{n}}{(2^{n+3})^{(2^{n}+4)}} \right) \left(\frac{3^{n}+2}{(2^{n+3})^{(2^{n}+4)}} \right) \\ = \lim_{n \to \infty} \left(\frac{2^{n}}{a_{n}} \right) \left(\frac{(2^{n}+3)^{(2^{n}+4)}}}{((n^{n})^{(n+1)}+3} \right) \frac{1}{n^{n}}} \frac{1}{n^{n}}} \right) \frac{1}{n^{n}}} \frac{1}{n^$$

 $(46) \sum_{n=3}^{\infty} \frac{2^n}{n^{2^n}}$ for $n \ge 3$, $n^{(2^n)} > n^{(n^2)} > 3^{n^2}$ $A \phi \quad \frac{2^{n}}{n^{(2^{n})}} < \frac{2^{n^{2}}}{n^{(n^{2})}} < \frac{2^{n^{2}}}{3^{n^{2}}} = \left(\frac{2}{3}\right)^{n^{2}} < \left(\frac{2}{3}\right)^{n} \implies 0 < \frac{2^{n^{2}}}{n^{(2^{n})}} < \left(\frac{2}{3}\right)^{n}$ Since $\sum_{n=3}^{\infty} \left(\frac{2}{3}\right)^n = \sum_{n=1}^{\infty} \left(\frac{2}{3}\right)^3 \left(\frac{2}{3}\right)^{n-1}$ which is a glometric series with $a = \left(\frac{2}{3}\right)^3$ and $n = \frac{2}{3}$ with $a=(\frac{z}{3})$ and $n=\frac{z}{3}$ this geometric series converges because $|n|=|\frac{z}{3}|<1$ and $0 < \sum_{n=3}^{2^{n}} < \sum_{n=3}^{\infty} {\binom{2}{3}}^{n} = \sum_{n=1}^{\infty} {\binom{2}{3}}^{3} {\binom{2}{3}}^{n-1}$, by the Unert Comparison Jest 2n2 converges $\lim_{n \to \infty} \sqrt{|a_n|} = \lim_{n \to \infty} \sqrt{\frac{(n!)^n}{n^{(n'')}}} = \lim_{n \to \infty} \sqrt{\frac{(n!)^n}{n^{(n'')}}} = \lim_{n \to \infty} \frac{n!}{n^{(n'')}} = 0 < 1$ $\lim_{n \to \infty} \frac{n!}{n^n} = \left(\frac{1}{n}\right) \left(\frac{2}{n}\right) \left(\frac{3}{n}\right) \cdots \left(\frac{n-1}{n}\right) \left(\frac{n}{n}\right) \leq \lim_{n \to \infty} \frac{1}{n} = 0$ by Direct Comparison Test lim VIanI = 0 < 1, by the Root Jest this series converges absolutely

10